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JlaHHBIE METOIMYECKHE pPEKOMCHIAIMA |  yKa3aHHS
COCTAaBJIICHBl B COOTBETCTBUM C IPUMEPHOHM IIPOrpaMMoOin
JTUCHUTUTHHBL «VIHOCTpaHHBIH SA3BIK» (eIepaibHOTO KOMIIOHEHTA
rnukia ['CO B 'OCe Beicmiero mpodeccnoHaIsHOr0 00pa3oBaHMs
BTOpOro mokoJyieHus (2000).

Oouwue memoouueckue peKomMeHOAuuu no Uu3y4yeHuro
OUCUUNTTUHDL

HeneBast ycranoBka. OCHOBHOW II€NIbI0  OOy4YCHUS
CTYJICHTOB aHIVIMHCKOMY $I3bIKY B HESI3bIKOBOM BY3€ SIBIISETCS
JOCTH)KEHUE MMHU IPAaKTUYECKOTO BJIQJECHUS ATUM S3BIKOM, YTO
py 3a09HOM OOyUYeHHH MpennojaraetT (popMUpOBaHUE YMEHHS
CaMOCTOSITEJIbHO YUTaTh JIMTEPATYpy MO CIEUUAIBHOCTH BYy3a C
EIBI0 U3BJICUEHHS MH(OPMAIIMY U3 MHOS3BIYHBIX HCTOYHUKOB.

B mponecce gocTikeHus neau 00y4eHus HHOCTPAaHHOMY
A3BIKY pELIAIOTCS BOCHHUTATEIbHBIE U 00LIe00pa3oBaTeIbHbIC
3ajjauyd, KOTOpBIE PACHIUPSAIOT O0mui M Quaonoruyeckui
Kpyro3op o0y4aembIX, pa3BUBAIOT UX MBILIUIEHUE U CIOCOOHOCTh
JieN1aTh JIOTHYECKUE BBIBOJIbI U YMO3AKITFOUEHHUSL.

Ctpykrypa kypca. B cooTBercTBUM C JEUCTBYIOIIMMH
IUIaHAaMHM Ha TOJIHBIH Kypc OOy4YeHHs MHOCTPAHHOMY SI3BIKY B
By3aX HES3BIKOBBIX CHEIUaIbHOCTEH OTBOAUTCS 10 40 4acoB
00s13aTeNIbHBIX ayIUTOPHBIX 3aHATUH, 300 4acoB
CaMOCTOSITENIbHOM pPaboThl. 3a Bechb Kypc OOy4YeHHsS! CTYIEHT
BBITOJIHSAET 2 KOHTPOJIbHBIE Pa0OThI, CHAET 3a4€T M HK3aMEH.
Pacnipenenenue yueOHbIX yacoB: 1 kypc - 20 yacoB ayAMTOPHBIX
3aHATU, 150 4YacoB caMoCTOsTeNbHOW paboOThI, CTYAEHT
BBITIOJTHSIET 1-10 KOHTPOJIBHYIO paboTy U ciaét 3auért. 2 xypc - 20
4acoB AayAUTOPHBIX 3aHATHH, 150 YacoB caMOCTOSATENbHON
paboThl, CTYACHT BBINIOJHAET 2-10 KOHTPOJIbHYIO paboTy U CAAET
IK3aMEH.

TpeooBanuss Ha 3auére. K 3auéry npomyckarTcs
CTYAEHTHI, OTpalOTaBIIME MaTephall 3aHATHH W TOJIYYMBIIHE
3a4€T 10 KOHTPOJIbHOM paboTe Nel.

JUia mostydeHus 3a4é€Tta CTyI€HT AOJKEH YMETh:



1) [IpounTarh, mepeckazaTb TeKCcT 00BEMoM 1500
MeYaTHBIX 3HAKOB IO3HABATEIILHOTO COJIEPKAHUSI U OTBETUTh HA
BOIIPOCHI.

2) Becrtu 6eceny mo teme «CeMmbs, pabota, yu€dar.

TpeOoBanusi Ha 3k3aMeHe. K 3K3aMeHy 10ITyCKaroTCs
CTYIEHTBI, OTpabOTaBIIME MaTepwall 3aHATUNA W TOJYYHUBIIUE
3a4éT 10 KOHTPOJIBHOU padoTte Nel.

DK3aMeH MPOBOJUTCS MO OWiIeTaMm, KaKIblil U3 KOTOPBIX
COCTOMT U3 3-X BOIIPOCOB:

1) IIncbMeHHBIM NIEPEBOJ OPUTMHAIBHOIO TEKCTA 110
crienuaabHOCTH co ciaoBapém (1200 m.3H. 3a 45 MHH.)

2) Yrenue, nepeBo]l U Mepecka3 Ha MHOCTPAHHOM S3bIKE
TEKCTa 1o creruaibHOCTH 0e3 cioBaps (1800 . 3H. 3a 5-10 MuH.)

2) becena mo Teme «Cembsi, pabora, yucoba,
npodeccusin, a Takxke «Poccus, MockBa, BenukoOpuranus,
Jlonpon» (15-20 npenyioxxenuit).

Mertoauyeckue yKa3aHHUSI 10 BBINOJHEHMIO U
0(OpMIIEHUI0O KOHTPOJIBLHBIX padoT

CTyneHThI-3a04YHUKHU 2-ro Kypca BBIIIOJIHSFOT
KOHTPOJIbHYIO paboTy, KOTopas IpeJCTaBlieHa B JIECATH
BapHaHTax U NpeJHa3Ha4YeHa JUIsl MHCbMEHHOI'O BBIMOJHEHUS C
HOCJEIYIONM co0eceI0BaHUEM.

Jlo  BBIOJIHEHUS  JIaHHOM  KOHTPOJBHOM  paboThl
pPEKOMEHTyeTCA npopaboTartb o rpaMMaTH4YECKOMY
CIPAaBOYHHUKY WM Y4YEOHHKY aHIVIMHCKOIO f3bIKa CIEAYIOLINI
rpaMMaTH4YecKUii MaTepHuai:

1. I'pynnma npocThIXx BpeMeH (HACTOAILIETO, MPOILIEAIIEro MU
Oyayiiero) B CTpaaarenbHOM (maccuBHOM) 3ayore (Simple
(Indefinite) Tenses Passive).

2. I'pynna npoioKeHHBIX BpEMEH (HACTOSIILETO U MTPOLLIEALLIETO)
B cTpajgatenbHoM (maccuBHOM) 3anore (Continuous (Progressive)
Tenses Passive).

3. I'pynma coBepIICeHHBIX BPEMEH B CTpaJaTeIbHOM (TTACCUBHOM)
3anore (Perfect Passive)



4. Oco0eHHOCTH yNOTPeOICHUS CTPAIaTEIbHOTO 3aI0Ta.

5. IlpunaTouHble IPEIIOKEHHUS.

6. UnpuaUTHB.

7. IHQUHUTUBHBINA 000POT «CIIOKHOE TIOJICKAIIIEEY.

8. NH(pUHUTHBHBII 000POT «CII0KHOE JOTIOTHEHUEY.

9. O6oport «for+cyiecTBUTEIPHOE MECTOMMEHHE ) FUH(MHHUTHUB.
10. Cnoxusie popmel mpuuactust | (Participle 1).

11. HesaBucumsblii mpuyacTHbiii obopor (Absolute Participle
Construction).

12. Tepynnuii (Gerund).

Brimaua 3amaHuit  KOHTPOJBHOM pabOTBl TPOBOIUTCS
MIPENo/IaBaTesieM Ha YCTAHOBOYHBIX 3aHATUAX U COITPOBOKIAETCA
WHIUBUIYAJIbHBIMU TTOSICHEHUSIMH 110 UX BBITTOJIHEHHIO. Kaxapiii
CTYJEHT BBIMOJHSIET TOJIbKO OJIMH BapUAHT KOHTPOJIbHOM pabOThI
B COOTBETCTBUM C TMOCIeAHEH UU(PON 3a4€THOM KHUKKH
CTyJEeHTa: ecnu mudp okaHUMBaeTCs Ha 1, BHIMOIHICTCS BapUAHT
Nel; na 2 - Ne2, a3 - Ne3 m 1.71.

3aiaHue BBINOJIHSETCS MMCbMEHHO B OT/EIBHOM TETpaH,
AKKypaTHO, 4ETKMM mouyepkoM. IIpm 3TOM ciemyer OCTaBiATH
[IMPOKUE TONS Ui 3aMEYaHHi, OOBSCHEHUH W METOAMYECKHUX
yKa3aHU# peueH3eHTa. Marepuan pacrnojiaraetcsi B TETpaau IO
cieayroneMy oopasiy:

ITons | JleBas ctpanuna [IpaBas crpannna | [lomns

AHTTIUHCKHI TEKCT Pycckuii Texer

BreimonnenHnas  KoHTpoibHas paboTa cmaéres s
MPOBEPKU Ha Kadeapy WHOCTPAHHBIX S3BIKOB B YCTAHOBJICHHBIC
CPOKH.

[IpoBepka THMCHMEHHO BBIIIOJHEHHOW  KOHTPOJBHOU
paboThl MPOBOJUTCS MpEnoaBaTelieM, KOTOPhI B 3aBUCHMOCTH
OT CTENEHUM YCBOEHMS CTYyJEHTOM  Marepuana  JellaeT
3aknmoueHue:  «JlomymeH k  coOecemoBanuio» win  «Ha




nopaboTKy». B mocrmemHem cimydae fmaércs  MHECBMEHHAs
KOHCYJbTaIs 1mo gopadotke. [IpoBepeHHass KOHTpOIbHAs paboTa
BBIIAETCS CTYACHTY.

CobecennoBanue 1O BBIMOJIHEHHONH KOHTPOJILHOW pabote
IPOBOAUTCS MPENogaBaTeNIIMU Kadeapsl MHOCTPAHHBIX S3BIKOB
Ha 3a4€THOM Hexele B COOTBETCTBUU C  PELECH3UEH
IpernoaaBaTessi, KOTOpas 3HAKOMHT CTYAEHTa C 3aMEYaHUSIMH
pELIeH3eHTa ¥ OPUEHTHPYET Ha aHaIM3 OTMEUEHHBIX ommobok. C
y4éTOM pEKOMEHJAIMH PpEIeH3eHTa CleAyeT MpopadboTaTh

yYKa3aHHBIN Marepua, UCIIPaBUTH opdorpadudeckue,
JICKCHUYECKUE U TPaMMaTHYECKHE OIMOKH, a TAK)KE HETOYHOCTH B
nepeBo/e.

PesynbpraTthl coOeceoBaHUs OTpaXkaroTCs B 3a4E€THOU
KHWKKEe 3a 4-ii cemecTp yueOHOro roja Kak 3a4é€T IO
KOHTPOJIbHOM pabote Ne2.

Bapuanm 1

3aoanue 1

H3mennTe caenyomue MNpeloKeHHs, HMCIOJb3yHTe
pasjiimuHble (OPMBI JeHCTBUTEIbHOTO0 W CTPAJATEJHLHOIO
3ajoros (Simple, Continuous, Perfect Active or Passive).

1. We are checking on the accuracy of the data.

2. The company’s income was calculated by using a new
computer programme.

3aoanue 2

IlepeBenure ciaenywomme mNpeAIoKeHUsi, oOpamas
BHUMaHHMe Ha 3HayYeHMsl rJjarojioB Mmust, have to, be to,
should, ought to.

1. The prices are to rise. 2. They should down the costs. 3.
Prices must be of importance for demand in any type of economy.
4. Raw materials ought to be delivered in time. 5. Revenues have
to be raised.



3aoanue 3

l'[epeBe):lnTe, oﬁpamaﬁ BHUMAaHHUEC Ha yHOTpeﬁne}me
NPUYACTHH, OTYEPKHUTE MPUIACTHS.

1. The assumption is that the consumer chooses the good
having the greatest utility for him. 2. Market is an organized
group of buyers and sellers of a particular good who are in
contact to each other. 3. Changes in prices of the products
produced with the same resources will change the supply. 4.
There is only one price called the market price. 5. The theory of
consumer choice based on individual utility shows how different
tastes result in different demands for the same goods.

3aoanue 4

IlepeBenure, oOpamasi BHMUMaHMe Ha (OpMBI U
(pyHxkunn uHGUHUTHBA, IOJYEPKHUTE HH(PUHUTHUB.

1. To have been opened in this town, new shops will be
able to meet the demands for goods. 2. In some countries, such as
post-communist Eastern Europe, foreign currency is known to be
used alongside domestic currency. 3. The exchange of
commodities between European countries is believed to have
become more convenient and rapid due to Euro. 4. Nowadays
accounts for international trade are supposed to be kept in Euro
rather than in national currencies. 5. Enough essential foods must
have been stored by the government to meet the needs of
population in case of emergency.

3aoanue 5

IlepeBenure, oOpamasi BHMMaHHMe Ha YNOTpeOJieHHe
repyHams.

1. The output can be increased by raising labour
productivity. 2. The company manager spoke about the
possibility of decreasing the production cost. 3. The discussing of
this complex project will take much time. 4. Management is the
process of achieving desirable results with the resources



available. 5. Such technological advances as improvements in the
production cycle, storing, packaging, transporting allow
producers to supply more high-quality goods.

3aoanue 6

CocraBbTe NpeIIOKeHUs] U3 JABYX NOAXOASAIIMX IO
CMBICJIYy 4YacTeld, 3anuIINTe W TepeBeIuTe TMOJy4YeHHbIe
NpeAI0KeHUsl.

1. The price of derivative always depends on ...

2. Options can be used to hedge against ...

3. A call option gives its owner ...

4. A put option gives its owner ...

a. future prices changes.

b. the right to buy something.

c. the price of another financial product.
d. the right to sell something.

3aoanue 7

IIpouuraiite, mepeBeauTe, NOAOEpPUTE M 3aANMUIIUTE
onpeaejceHusi K CJIEAyIOIUM CJI0BaM.

Bankrupt, liquidation, ordinary shares, preference shares,
primary market, coupon

1. the sale of the assets of a failed company

2. insolvent, unable to pay debts

3. the most common form of shares

4. shares that pay a guaranteed dividend

5. the market on which new shares are sold

6. the amount of interest that a bond pays

3aoanue 8
IIpournTe MW NHCHMEHHO TNepeBeaUuTe CJETYIOUINI
TEKCT.



Money and income
Currency

The money used in a country — euros, dollars, yen, etc. —
Is its currency. Money in notes (banknotes) and coins is called
cash. Most money, however, consists of bank deposits: money
that people and organizations have in bank accounts. Most of this
is on paper — existing in theory only — and only about ten per cent
of it exists in the form of cash in the bank.

Personal finance

All the money a person receives or earns as payment is his
or her income. This can include:

- a salary: money paid monthly by an employer, or wages:
money paid by the day or the hour, usually received weekly

- overtime: money received for working extra hours

- commission: money paid to salespeople and agents — a
certain percentage of the income the employee generates

- a bonus: extra money given for meeting a target or for
good financial results

- fees: money paid to professional people such as lawyers
and architects

- social security: money paid by the government to
unemployed and sick people

- a pension: money paid by a company or the government
to a retired person.

Salaries and wages are often paid after deductions such as
social security charges and pension contributions.

Amounts of money that people have to spend regularly are
outgoings. These often include:

- living expenses: money spent on everyday needs such as
food, clothes and public transport

- bills: requests for the payment of money owed for
services such as electricity, gas and telephone connections

- rent: the money paid for the use of a house or flat



- a mortgage: repayments of money borrowed to buy a
house or flat

- health insurance: financial protection against medical
expenses for sickness or accidental injuries

- tax: money paid to finance government spending.

A financial plan, showing how much money a person or
organization expects to earn and spend is called a budget.

3aoanue 9
Iucbmenno 3agaiite 10 BOMpPOCOB K  TEKCTY,
HCMOJIb3YiiTe pa3inyHbIe THIIBI BONPOCOB.

Bapuanm 2

3aoanue 1

HN3menuTe cieaywouue mnpeliOKeHUsI, HCIOJb3yHTe
pPa3sJInYHbIC (l)OprI I[eﬁCTBHTeJILHOFO H CcTrpagaTrejbHOoro
3agoros (Simple, Continuous, Perfect Active or Passive).

1. They have a lot of experience in predicting consumer
requirements.

2. The production efficiency was increased by investing
money in new technologies.

3aoanue 2

IlepeBenure ciaeaymommue mnpeaioKeHusi, odpaias
BHUMAaHUEe Ha 3HA4YeHus ruaaroaoB Mmust, have to, be to,
should, ought to.

1. The exchange rate must have fallen by that time. 2. The
government should have adopted clear agricultural policy years
ago. 3. The equipment ought to have been replaced long ago.
4. The depreciation of the assets is to be calculated. 5. The
accountant had to prepare the balance sheet.

3aoanue 3

IlepeBenure, oOpamasi BHUMaHHMe Ha yNoTpelJeHHe
NpUYacTHii, NOAYePKHUTE MPUYACTHS.

10



1. The economist is investigating how an increase in the
price of one good influences the quantity of another good
demanded. 2. Marginal utility is the utility obtained from that unit
of a good that a consumer thinks is important for him to obtain.
3. Resources can be a serious factor limiting production. 4. Firms
producing computers act as buyers in the markets for the services
of computer programmers. 5. Reductions in income increase the
quantity demanded if a good is inferior.

3aoanue 4

IlepeBenure, oOpamasi BHUMaHWe Ha (opMbI H
(pyHKI UM HHPUHUTHBA, TOXYEPKHUTE HHPUHHUTHB.

1. If properly kept, accounts could have provided valuable
financial information necessary to make decisions about the
future of the company. 2. The Central Bank must be keeping the
exchange rate at a low level, or it would be much higher at
present. 3. Money is known to be accepted as a means of
payment. 4. To keep the economy as close as possible to full
employment is an essential aim for the government to reach. 5.
To have a glimpse in the working of the economy as a whole may
be of use to a student of economics.

3aoanue 5

HepeBezulTe, oﬁpamaﬂ BHUMaHHEC Ha yHOTpeﬁ.ﬂeHHe
TepyHIusA.

1. Management concerns the making of business decisions
in order to maximize profit. 2. Some members of the Parliament
in Russia insist on imposing control over the Central Bank’s
monetary policy. 3. The chief accountant objected to Mr. Smith
preparing of the balance sheet. 4. The fiscal policy suspected of
the company not declaring all its profits. 5. The Minister thanked
citizens and firms for allocating means for coping with the
earthquake aftermath.

11



3aoanue 6

CocTraBbTe MpENI0KEeHUS] U3 JIBYX MNOAXOISAIINX IO
CMBICJIYy 4YacTeld, 3anuIINTe W TepeBeIuTe TMOJy4YeHHbIe
npeIJI0KeHusl.

1. The random walk theory states that ...

2. The efficient market hypothesis is that ...

3. Technical analysts believe that ...

4. Fundamental analysts believe that ...

a. studying charts of past stock prices allows you to
predict future changes.

b. stocks are correctly priced so it is impossible to make a
profit by finding undervalued ones.

c. you can calculate a stock’s true value, which might not
be the same as its market price.

d. it is impossible to predict future changes in stock prices.

3aoanue 7

IIpouuraiite, mepeBeanTe, MOAOEPUTE M 3aANMUIIUTE
onpeaejceHusi K CJIEAyIOIHUM CJI0BaM.

To underwrite, stock exchange, going public, investors,
prospectus, flotation

1. a document describing a company and offering stocks
for sale

2. a market on which companies’ stocks are traded

3. buyers of stocks

4. changing from a private company to a public one,
quoted on a stock exchange

5. the first sale of a company’s stocks to the public

6. to guarantee to buy newly issued shares if no one else does

3aoanue 8

IIpoutuTte W NHMCbMEHHO TMiepeBeAUTe CJeTYHOIMT
TEKCT.

12



Business finance
Capital

When people want to set up or start a company, they need
money, called capital.

Companies can borrow this money, called a loan, from
banks. The loan must be paid back with interest: the amount paid
to borrow the money. Capital can also come from issuing shares
or equities — certificates representing units of ownership of a
company. The people who invest money in shares are called
shareholders and they own part of the company. The money they
provide is known as share capital. Individuals and financial
institutions, called investors, can also lend money to companies
by buying bonds - loans that pay interest and are repaid at a fixed
future date.

Money that is owed — that will have to be paid - to other
people or businesses is a debt. In accounting, companies’ debts
are usually called liabilities. Long-term liabilities include bonds;
short-term liabilities include debts to suppliers who provide
goods or services on credit - that will be paid for later. The
money that a business uses for everyday expenses or has
available for spending is called working capital or funds.

Revenue

All the money coming into a company during a given
period is revenue. Revenue minus the cost of sales and operating
expenses, such as rent and salaries, is known as profit, earnings or
net income. The part of its profit that a company pays to its
shareholders is a dividend. Companies pay a proportion of their
profits to the government as tax, to finance government spending.
They also retain, or keep, some of their earnings for future use.

Financial statements

Companies give information about their financial situation
in financial statements. The balance sheet shows the company’s
assets - the things it owns; its liabilities - the money it owes; and
its capital. The profit and loss account shows the company’s

13



revenues and expenses during a particular period, such as three
months or a year.

3aoanue 9
IIucbmenno 3agaiite 10 BONPOCOB K  TEKCTY,
HCNOJb3YiiTe pa3iMyHble TUIIBI BOIIPOCOB.

Bapuanm 3

3aoanue 1

HU3menuTte cieaywouue mnpeliOKeHUsI, HCIOJb3yHTe
Ppa3JIHn4vYHbI€ (l)OprI I[eﬁCTBHTeJILHOFO n CcTrpagaTrejbHoro
3agoros (Simple, Continuous, Perfect Active or Passive).

1. Increasing labour productivity reduced the production cost.

2. These methods of analyses are widely used because of
their great value.

3aoanue 2

IlepeBeaure caeaymomme MnpeAoKeHUsi, oOpamas
BHUMaHHe Ha 3HayYeHMsl rJjarojioB Mmust, have to, be to,
should, ought to.

1. Money must be used as a medium of exchange. 2. The
price of the national currency is to be falling. 3. They should
apply new highly efficient equipment. 4. The consumer has to
buy another good, whose price has not risen. 5. The economist
ought to rely on all the information that he can find.

3aoanue 3

IlepeBenure, oOpamasi BHHMaHHMe Ha YNoOTpeOJieHHe
NPUYACTHH, MOAYEPKHUTE NPUYACTHS.

1. Acting through their governments, societies can make
decisions on allocating of scare resources. 2. A nation’s income is
the sum of the incomes of all the people living in that country. 3.
Consumers typically buy a smaller quantity of the good sold at
higher price. 4. When all goods are normal, a reduction in income

14



will reduce the quantity demanded of all goods. 5. The entire
quantity produced does not have to be sold at once.

3aoanue 4

IlepeBenure, oOpamasi BHUMaHUEe Ha QopMbI u
(pyHKI UM HHPUHUTHBA, NOAYEPKHUTE HHPUHHUTHB.

1. Gold is believed to have been for a long time a
convenient store of value. 2. Capital, or property, should be
distinguished from income received from that property during a
given period. 3. The US administration is reported to be making
efforts to eventually eliminate agricultural subsidies. 4. Larger
investments in production expansion result in smaller amounts to
be saved and to be distributed as dividends. 5. The value of the
total output to be produced in the public sector and the private
sector will make up the gross national product.

3aoanue 5

HepeBeImTe, oﬁpamaﬂ BHHUMAaHHEC Ha yHOTpeﬁ.ﬂeHl/le
repyHaus.

1. The tenant asked if the landowner objected him to
building an extension to the barn. 2. The company must
compensate stockholders for not paying dividends in time, as
these troubles were due to running the company improperly. 3.
Regular monitoring cash flow is of great importance for any firm.
4. The Mayor spoke of raising tax rates on non-residents’
properly. 5. The customers were told of the company opening a
new modern department store in their district.

3aoanue 6

CocraBbTe NPEAJIOKEHUA M3 ABYX MNOAXOAAIIMX 110
CMBICJIy 4YacTeld, 3anuIINTe W TepeBeIuTe TMOJyYeHHbIe
NPeIJI0KEeHUsI.

1. Banks are usually reluctant ...

2. Starts-up often get money ...

3. New companies can grow rapidly ...

4. Risk capitalists usually expect ...

15



a. and so are potentially profitable.

b. a higher than average return on their money.
c. to lend money to new companies.

d. from specialized venture capital firms.

3aoanue 7

IIpouuraiite, mepeBeauTe, NOAOEpUTEe M 3aANMUIIUTE
onpeaejicHus K CJICAYIOIIUM CJI0BaM.

Unsecured, to capitalize, rights issue, market price,
secondary market, nominal value

1. new shares offered to existing shareholders

2. adjective meaning with no guarantee or collateral

3. the price written on a share, which never changes

4. to turn profits into stocks or shares

5. the market on which shares can be re-sold

6. the price at which a share is currently being traded

3aoanue 8
IIpoyTHTE U NUCHMEHHO NepeBeanTe CJAETYIINA TEKCT.

Accounting and accountancy
Accounting

Accounting involves recording and summarizing an
organization’s transactions or business deals, such as purchases
and sales, and reporting them in the form of financial statements.
In many countries, the accounting or accountancy profession has
professional organizations which operate their own training and
examination systems, and make technical and ethical rules: these
relate to accepted ways of doing things.

- Bookkeeping is the day-to-day recording of transactions.

- Financial accounting includes bookkeeping, and
preparing financial statements for shareholders and creditors
(people or organizations who have lent money to a company).

- Management accounting involves the use of accounting
data by managers, for making plans and decisions.
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Auditing

Auditing means examining a company’s systems of
control and the accuracy or exactness of its records, looking for
errors or possible fraud: where the company may have
deliberately given false information.

- An internal audit is carried out by a company’s own
accountants or internal auditors.

- An external audit is done by independent auditors:
auditors who are not employees of the company.

The external audit examines the truth and fairness of
financial statements. It tries to prevent what is called ‘creative
accounting’, which means recording transactions and values in a
way that produces a false result — usually an artificially high profit.

There is always more than one way of presenting
accounts. The accounts of British companies have to give a true
and fair view of their financial situation. This means that the
financial statements must give a correct and reasonable picture of
the company’s current condition.

Laws, rules and standards

In most continental European countries, and in Japan,
there are laws relating to accounting, established by the
government. In the US, companies whose stocks are traded on
public stock exchanges have to follow rules set by the securities
and Exchange Commission (SEC), a government agency. In
Britain, the rules, which are called standards, have been
established by independent organizations such as the Accounting
standards Board (ASB), and by the accountancy profession itself.
Companies are expected to apply or use these standards in their
annual accounts in order to give a true and fair view.

Companies in most English-speaking countries are largely
funded by shareholders, both individuals and financial
institutions. In these countries, the financial statements are
prepared for shareholders. However in many continental
European countries businesses are largely funded by banks, so
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accounting and financial statements are prepared for creditors and
the tax authorities.

3aoanue 9
IIucbmenno 3agaiite 10 BONPOCOB K  TEKCTY,
HCNOJb3YiiTe pa3iMyHble TUIIBI BOIIPOCOB.

Bapuanm 4

3aoanue 1

HU3menuTte cieaywouue mnpeliOKeHUsI, HCIOJb3yHTe
Ppa3JIHn4vYHbI€ (l)OprI )IeﬁCTBHTeJILHOFO n CcTrpagaTrejbHoro
3agoros (Simple, Continuous, Perfect Active or Passive).

1. Choosing proper decisions is of great importance in
management.

2. In command economies resources are allocated by
central government planning.

3aoanue 2

IlepeBenure ciaeaymomme mnpeaAoKeHusi, odpaias
BHUMAaHUEe Ha 3HA4YeHHUsd ruaroaoB Mmust, have to, be to,
should, ought to.

1. The limited supply of energy in some sectors of the US
economy is to lead to changes in the economic situation as a
whole. 2. Government regulations should be in the interests of
society. 3. The buyers have to reconcile the conflict what they
want to do and what the market will allow them to do. 4. You
ought to have the firm re-registered as soon as possible or you
may have troubles. 5. A foreign company in Great Britain must
give certain information about itself to the government offices.

3aoanue 3

IlepeBenuTe, oOpamasi BHMMaHHMe Ha YNOTpeOJieHHe
NPUYACTHH, NOAYEPKHUTE NPUYACTHUS.
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1. Putting demand and supply together, we can determine
equilibrium prices and quantities in different markets. 2. Supply
restrictions imposed by cartels are as characteristic of
industrialized economies as of developing economies. 3. As
incomes rise, the quantity of food bought will rise but only a
little. 4. The utility depends on the quantities of the goods
consumed. 5. The economist is interested in factors affecting the
allocation of resources will change the supply.

3aoanue 4

IlepeBenure, oOpamasi BHUMaHWe Ha (opMbI H
(pyHKI UM HHPUHUTHBA, TOXYEPKHUTE HHPUHHUTHB.

1. We know the exchange rate ceiling to have been
imposed temporarily by the Central Bank of Russia for the period
of reform in the mid-to-late 1990s. 2. Travellers’ cheques, credit
cards or even prepaid telephone cards are known to have been
included in money by some economists. 3. New methods of
economic analysis appear to be required in the near future. 4. We
know the quantity of capital inputs to determine the limit to
output. 5. Imports may be raw materials for domestic production
or the goods to be consumed directly by households.

3aoanue 5

HepeBezlnTe, oﬁpamaﬂ BHUMaHHEC Ha yHOTpeﬁﬂeHHe
TepyHIusA.

1. By 1994 more than 100 nations agreed to ratifying the
General Agreement on Tariffs and Trade removing many trade
restrictions. 2. The principle of comparative advantage explains
why different countries tend to specialize in producing particular
commodities. 3. The manager insisted on cash flows being
regularly monitored. 4. Labour productivity may be increased by
introducing new machinery. 5. Economists argue that minimum
wage prevent businessmen from employing young workers with
little human capital.
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3aoanue 6
CocTraBbTe MpENI0KEeHUS] U3 JIBYX MNOAXOISAIINX IO

CMBICITY '-IﬂCTCfI, 3allMIIUTe W IIePeBEAUTE II0JYYCHHbBIC
NMpeaJ0KCHUs.

losses.

1. Venture capitalists need an exit strategy — a way ...

2. Mezzanine financing is a second round of financing ...
3. The basic feature of Islamic banking ...

4. Instead of charging and paying interest ...

a. Islamic banks and their customers share profits and
b. is that it is interest-free.
c. before a company joins a stock exchange.

d. to get their money back after a few years.

3aoanue 7
IIpouuraiite, mepeBeauTe, NMOAOEpUTEe M 3aNMUIIUTE

onpeaejiceHusi K CJIEAYKOIUM CJI0BaM.

sales,

Cash flow, liquidity, redeemed, maturity, short-term, par value
1. the ability to sell an asset quickly for cash

2. (in finance) adjective meaning up to one year

3. repaid

4. the length of time before a bond has to be repaid

5. the movement of money in and out of an organization
6. the price written on a security

3aoanue 8
IIpoyTHTE U MUCHMEHHO NMEepPeBeIUTE CIAETYIOIINIA TEKCT.

Bookkeeping
Double-entry bookkeeping
Bookkeepers record the company’s daily transactions;
purchases, debts, expenses, and so on. Each type of

transaction is recorded in a separate account - the cash account,
the liabilities account, and so on. Double-entry bookkeeping is a
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system that records two aspects of every transaction. Every
transaction is both a debit - a deduction - in one account and a
corresponding credit - an addition - in another. For example, if a
company buys some raw materials — the substances and
components used to make products — that it will pay for a month
later, it debits its purchases account and credits the supplier’s
account. If the company sells an item on credit, it credits the sales
account, and debits the customer’s account. As this means the
level of the company’s stock - goods ready for sale - is reduced, it
debits the stock account. There is a corresponding increase in its
debtors - customers who owe money for goods or services
purchased - and the debtors or accounts payable account is
credited. Each account records debits on the left and credits on
the right. If the bookkeepers do their work correctly, the total
debits always equal the total credits.
Day books and ledgers

For accounts with a large number of transactions, like
purchases and sales, companies often record the transactions in
day books or journals, and then put a daily or weekly summary in
the main double-entry records.

In Britain, they call the main books of account nominal
ledgers. Creditors - suppliers to whom the company owes money
for purchases made on credit - are recorded in a bought ledger.
They still use these names, even though these days all the
information is on a computer.

Note: In Britain the terms debtors and creditors can refer
to people or companies that owe or are owed money or to the
sums of money in an account or balance sheet.

Balancing the books

At the end of an accounting period, for example a year,
bookkeepers prepare a trial balance which transfers the debit and
credit balances of different accounts onto one page. As always,
the total debits should equal the total credits. The accountants can
then use these balances to prepare the organization’s financial
statements.
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3aoanue 9
Iucbmenno 3agaiite 10 BONMpPOCOB K  TEKCTY,
HCNOJIB3YiTe pa3iIMdHbIe THIIBI BOIPOCOB.

Bapuanm 5

3aoanue 1

HN3menurte cienymouue npeIIoKeHUs1, HCIOJIb3yHTe
pasimuHbie (GopMbl 1eliCTBUTEIBLHOI0 W CTPAAaTeJbHOIO
3agoros (Simple, Continuous, Perfect Active or Passive).

1. They supply the same quality of the commodity to this
customer every week.

2. Goods are bought in exchange for money.

3aoanue 2

IlepeBenure ciaeayomue MNpeNJoKeHUsi, oOpamas
BHUMAHHE HA 3HA4YeHHMs rJjarojos Mmust, have to, be to,
should, ought to.

1. The consumer has to solve the problem choosing.
2. Increases in the quantity of one good must be followed by
reductions in the quantity of the other good. 3. The income
should be allocated among all possible choices. 4. The consumer
is to maintain a given level of utility. 5. Market demand ought to
depend not only on the factors affecting individual demands, but
also on the number of consumers in the market.

3aoanue 3

l'[epeBezlnTe, oﬁpamaﬂ BHHUMaHHEC Ha yl'[OTpeﬁ.HeHl/le
NPUYACTHI, MOAYEPKHHUTE IPUYACTHA.

1. As a quantity supplied increases with an improvement
in technology, firms seek to produce more at the same price level.
2. Demand is a quantity needed for a good. 3. Excess supply is a
situation in which the quantity of good demanded by buyers is
less than the quantity supplied by producers. 4. Excess supply is a
situation in which, at a certain price, the quantity of a particular
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product demanded by buyers is less than the quantity supplied.
5. A subsidy is money given by a government to some producers.

3aoanue 4

IlepeBenure, oOpamasi BHUMaHHWe Ha (opMbI ©
(pyHKI UM HHPUHUTHBA, NOAYEPKHUTE HHPUHHUTHB.

1. One form of money or another seems to have been used
in all societies since the time immemorial. 2. The dividends to be
paid out this year will not be high. 3. Few market economies are
likely to provide jobs for all those wanting to work.
4. Stabilization policy is government actions to control the level
of output in order to keep the GNP (gross national product) close
to its full-employment level. 5. To calculate depreciation is
necessary in order to know the value of the assets of an
enterprise.

3aoanue 5

HepeBezmTe, oﬁpamaﬂ BHHUMAaHHEC Ha yHOTpeﬁ.ﬂeHlfle
repyHaus.

1. Both British car buyers and producers of foreign cars
have benefited from increasing the UK imports of cheaper
foreign cars. 2. The manager was informed of the accountant’s
department having completed the trial balance. 3. The expansion
of production will largely depend on investing adequate amount
of money in this business. 4. The rate of inflation in some
countries involved in exporting natural resources such as gas or
oil often greatly depends on price changes in the world market.
5. Nowadays many nations and governments are interested in
developing international  division of labour through
specialization.

3aoanue 6

CocTaBbTe NpeIOKEeHUS] M3 JBYX HNOAXOAAIIMX IO
CMBICJIYy 4YacTeld, 3anMIINTe W TepeBeIuTe TMOJy4YeHHbIe
NpeAJI0KeHUsl.

1. Depositors in Islamic banks ...
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2. Businesses that borrow from Islamic banks ...

3. Islamic banks operate in similar way ...

4. Most money market securities ...

a. are short-term, liquid, safe, and sold at a discount.

b. to venture capitalists who buy companies’ stocks or
shares.

c. have to share their profits with the bank.

d. do not receive a fixed return.

3aoanue 7

IIpouuraiite, mepeBeauTe, NOAOEpUTEe M 3aANHUIIUTE
onpeaejceHus K CJIEAYIOIUM CJI0BaM.

Labour, floating rate, spread, creditworthy, discount,
competitive

1. the difference between borrowing and lending rates

2. safe to lend money to

3. paid work that provides goods and services

4. a borrowing rate that isn’t fixed

5. a price below the usual or advertised price

6. adjective describing a good price, compared to others
on the market

3aoanue 8
IIpoyTHTE U MUCHMEHHO MEepeBeIUTE CIAETYIOIINI TEKCT.

Cost accounting
Direct and indirect costs

Cost accounting involves calculating the costs of different
products or services, so that company managers can know what
price to charge for particular products and services and which are
the most profitable. Direct costs - those that can be directly
related to the production of particular units of a product - are
quite easy to calculate. Examples include manufacturing
materials and manufacturing wages. But there are also indirect
costs or overheads - costs and expenses that cannot be identified
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with particular manufacturing processes or units of production.
Examples include rent or property taxes for the company’s
offices and factories, electricity for lighting and heating, the
maintenance department, the factory canteen or restaurant,
managers’ salaries, and so on. Costs such as these are often
grouped together on the profit and loss account or income
statement as Selling, General and Administrative Expenses.
Fixed and variable costs

Companies also differentiate between fixed costs and
variable costs. Fixed costs are those that do not change in the
short term, even if the production level changes, such as rent and
interest payments. Variable costs are those that change in
proportion to the volume of production, such as components and
raw materials, and overtime payments.

Manufacturing companies have to find a way of allocating
fixed and variable costs to the various products they make: that is,
they divide up the costs and charge them to the different products.
Absorption costing attempts to charge all direct costs and all
production costs, and sometimes all indirect costs such as
administrative expenses, to each of the company’s products or
services. Activity-based costing calculates all the costs connected
with a particular activity (e.g. product design, manufacturing,
distribution, customer service), even if they are carried out by
different departments in the company. Most companies have
departments or functions that do not generate any profit but only
incur costs (e.g. accounting and legal departments). For
accounting purposes, companies often make these departments
into cost centres, and allocate or charge all the costs related to
them separately.

Breakeven analysis

When deciding whether it would be profitable to produce
a product, or offer a service, companies do a breakeven analysis.
This compares expected sales of the new product with expected
costs - both direct and indirect - at various production levels. The
breakeven point is the sales volume - the number of units sold - at
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which the company covers its costs - pays all its expenses. To
make a profit, it is necessary to sell more than this.

Although cost accounting allows companies to calculate
production costs, pricing decisions also depend on: the level of
demand; the prices of competitors’ products; the company’s
financial situation; the company’s objectives - the goals or aims it
wants to accomplish; the company’s marketing policies - whether
it is interested in maximizing sales or maximizing profit.

3aoanue 9
Iucemenno 3apmaiite 10 BONpPOCOB K  TeKcCTy,
HCMOJb3YiTe pa3jiuvyHble TUIIBI BOMIPOCOB.

Bapuanm 6

3aoanue 1

HN3Menure cieayromue Ipeaa0KeHus, MCHOHL3yﬁTe
pasinuHbie (GopMbl 1eliCTBUTEIBLHOI0 W CTPAAaTeJbHOIO
3ajoroB (Simple, Continuous, Perfect Active or Passive).

1. In Britain prices are quoted in pound sterling.

2. Loans make up the bigger share of clearing bank
lending.

3aoanue 2

IlepeBenure ciaeaymommue mnpeaioKeHusi, odpaias
BHUMAaHUEe Ha 3HA4YeHus ruaaroaoB Mmust, have to, be to,
should, ought to.

1. The consumer has to decide by how much the good A is
preferred to the good B. 2. A great increase in the supply of
money in the form of bank notes and bank credit is to result in
inflation. 3. Not all partners in a firm must take an active part in
management. 4. The economist should be able to say which
factors affect the allocation of resources for producing a
particular good. 5. Changes in prices ought to change the supply.
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3aoanue 3

HepeBeLmTe, oﬁpamaﬂ BHUMAaHHUEC Ha yHOTpeﬁJ'IeHI/Ie
NPUYACTHH, OTYEPKHUTE MPUIACTHS.

1. Governments intervene in economies controlling the
supply of money, limiting monopolies and helping private
industries. 2. The high price for a good is the market mechanism
telling suppliers it is now time to increase production.
3. Reducing our imports, we decrease the exports of others. 4. As
consumers prefer more to less, an increase in of the amount of a
good bought increases utility. 5. The syndicate controls prices
and output and allotting quotas to its members, it divides the
market demand among them.

3aoanue 4

IlepeBenure, oOpamasi BHUMaHHWe Ha (opMbI ©
(pyHKIUM HHPUHUTHBA, TOXYEPKHUTE HHPUHHUTHB.

1. How much more efficiently than the government the
private sector uses resources remains a problem to discuss.
2. Measures to be taken by the government will not be popular.
3. The budget deficit is to known to be the excess of government
expenditure over government revenue. 4. Although money is a
helpful tool to measure output, there may arise certain
difficulties. 5. Economists consider capital to be the property
owned by an individual or corporation at a given time.

3aoanue 5

IlepeBenuTe, oOpamasi BHMMaHHMEe Ha YNOTpeOJieHHe
repyHausi.

1. Employees and workers in European countries
sometimes protest against companies closing enterprises and
decreasing wages, governments increasing taxes by organizing
demonstrations or strikes. 2. The stockholders suspected the
company of having debts. 3. The employee thanked the manager
for increasing the salaries. 4. The partners are still insisting on the
manager having a report in the general stockholders’ meeting.
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5. A common agricultural policy of the EC members is to protect
domestic producers against importing cheap agricultural products
from non-member countries.

3aoanue 6

CocTraBbTe TpENI0KEeHUS] M3 JIBYX MNOAXOISAININX IO
CMBICJIYy 4YacTeld, 3anuIINTe W TepeBeIuTe TMOJy4YeHHbIe
npeIJ10KeHusl.

1. A treasure bill is safe because it ...

2. Commercial paper ...

3. Certificates of deposit (CDs) ...

4. Repurchase agreements (repos) ...

a. is issued by corporations, so it is riskier than T-bills
(treasure bills).

b. is guaranteed by the government.

c. are short-term exchanges of cash for securities.

d. are issued to holders of time deposits in a bank.

3aoanue 7

IIpounTaiite, mepeseauTe, moadepuTe W 3aNUIIATE
onpeaejeHusi K CJIEAyrOIuM CJI0BaM.

Financial restructuring, valuation, interest rate, solvency,
output, invest

1. making changes to how a company is financed

2. establishing how much something is worth

3. the quantity of goods and services produced in an
economy

4. to spend money in order to produce income or profits

5. the cost of borrowing money, expressed as a percentage
of the loan

6. having sufficient cash available when debts have to be paid
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3aoanue 8
IIpoyTHTE U MUCHMEHHO NMepeBeIuTe CIETYIOIIN TEKCT.

Bonds
Government and corporate bonds

Bonds are loans to local and national governments and to
large companies. The holders of bonds generally receive fixed
interest payments, once or twice a year, and get their money
known as the principal — back on a given maturity date. This is
the date when the loan ends.

Governments issue bonds to raise money and they are
considered to be a risk-free investment. In Britain government
bonds are known as gilt-edged stock or just guts. In the US they
are called Treasury notes, which have a maturity of 2 - 10 years,
and Treasury bonds, which have a maturity of 10- 30 years.

Companies issue bonds, called corporate bonds, because
they can usually pay less interest to bondholders than they would
have to pay if they raised the same money by a bank loan. These
bonds are generally safer than shares, because if a company
cannot repay its debts it can be declared bankrupt. If this happens,
the creditors can force the company to stop doing business, and
sell its assets to repay them. In this way, bondholders will
probably get some of their money back.

Borrowers - the companies issuing bonds - are given
credit ratings by credit agencies such as Standard & Poor’s and
Moody’s. This means that they are graded, or rated, according to
their ability to repay the loan to the bondholders. The highest
grade (AAA or Aaa) means that there is almost no risk that the
borrower will default - fail to pay interest or to repay the
principal. Lower grades (e.g. Baa, BBB, C, etc.) mean an
increasing risk of the borrower becoming insolvent - unable to
pay interest or repay the capital.

Prices and yields

Bonds are traded by banks which act as market makers for

their customers, quoting bid and offer prices with a very small
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spread or difference between them. The price of bonds varies
inversely with interest rates. This means that if interest rates rise,
so that new borrowers have to pay a higher rate, existing bonds
lose value. If interest rates fall, existing bonds paying a higher
interest rate than the market rate increase in value. Consequently
the yield of a bond - how much income it gives - depends on its
purchase price as well as its coupon or interest rate. There are
also floating-rate notes — bonds whose interest rate varies with
market interest rates.
Other types of bonds

When interest rates are high, some companies issue
convertible shares or convertibles, which are bonds that the
owner can later change into shares. Convertibles pay lower
interest rates than ordinary bonds, because the buyer gets the
chance of making a profit with the convertible option.

There are also zero coupon bonds that pay no interest but
are sold at a big discount on their par value, which is 100%, and
repaid at 100% at maturity. Because they pay no interest, their
owners don’t receive money every year (and so don’t have to
decide how to reinvest it); instead they make a capital gain at
maturity.

Bonds with a low credit rating (and a high chance of
default), but paying a high interest rate, are called junk bonds.
Some of these are known as fallen angels - bonds of companies
that were previously in a good financial situation, while others
are issued to finance leveraged buyouts.

3aoanue 9

IIncbmenno 3apaiite 10 BompocoB K  Tekcry,
HCIOJIb3YHTE pa3IuYHble THIIBI BONPOCOB.
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Bapuanm 7

3aoanue 1

HN3MennTe ciexyronue mNpeNoKeHHsl, UCHOJb3yHTe
pa3JIn4YHbI€C (l)OpMBI ﬂeﬁCTBHTeHBHOFO n CcTrpagaTrejbHOoro
zagoros (Simple, Continuous, Perfect Active or Passive).

1. Input prices will make the production less expensive.

2. Goods are defined as finished products, as intermediate
goods or as agricultural products and foodstuffs.

3aoanue 2

IlepeBeaure caeaymomme MnpeAoKeHUsi, oOpamas
BHUMaHHMe Ha 3HayYeHMsl rJjarojoB Mmust, have to, be to,
should, ought to.

1. Improvements in technology must be a factor leading to
changes in agricultural supply. 2. The producers are to follow the
directions given to them. 3. The substitution effect of a price has
to reduce the demand for the goods that are complementary to the
goods whose price rise. 4. Governments should impose price
floors. 5. The country ought to gain from trading high quality
products.

3aoanue 3

IlepeBenuTe, oOpamasi BHMMaHHMEe Ha YNOTpeOJieHHe
l'lpl/l‘{aCTI/lﬁ, MNOAYEPKHUTE NMPpUIACTHUSA.

1. An improvement in technology will increase the supply
of a good, increasing the quantity supplied at each possible price.
2. Individuals, families and governments consuming goods and
services are called in economics consumers. 3. Some of the inputs
used by an individual are food, chairs and tables, but another
input of great importance is time. 4. The consumer will always
prefer buying the good that gives him more marginal utility per
dollar spent. 5. Boom is a period of increased business activity
when a rising demand for all commodities results in increased
industrial production.

31



3aoanue 4

IlepeBenure, oOpamasi BHMMaHMe Ha (OpPMBI H
GyHxkunu uHGUHUTHBA, NOAYEPKHUTE HHPUHUTHUB.

1. Markets are said to bring together buyers and sellers of
goods and services. 2. The massive influx of women into the
labour force is sometimes assumed to result in unemployment.
3. Farmers normally attract additional labour force to be used at
harvest time. 4. Acting through their governments, societies can
decide how much they want to take measures to change the
distribution of income. 5. Engineers have developed a soya-based
car fuel to replace petrol one day.

3aoanue 5

IlepeBenuTe, oOpamasi BHUMaHHe Ha ynoTpedjeHue
repyHIusl.

1. The employees were told of the company’s president
coming tomorrow. 2. Taking into account the company’s high
reputation among businessmen, the creditors have agreed to it
paying debts in a month. 3. It is known that the author’s copyright
prevents publishers from publishing books without getting the
author’s permission. 4. In the 1970s the Rover Group, the major
UK car producer, approved of restricting cars’ imports in the UK,
as it could lead to job losses in the country’s car industry.
5. Being limited by resources, the company should concentrate on
solving the most important problems.

3aoanue 6

CocTraBbTe TpENI0KEeHUS] M3 JABYX MOAXOISAIIUX IO
CMBICJIY 4YacTeil, 3anMIIMTe M TepeBeIUTe MOJIy4YeHHbIe
NpeaJI0KeHusl.

1. The central bank will sometimes lend money ...

2. Banks would probably start taking too many risks ...

3. Central banks are usually responsible for ...

4. There will be low and stable inflation ...
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a. if they could always be sure of rescue by the central bank.
b. if there is a run on a commercial bank.

c. if monetary policy is successful.

d. printing and distributing banknotes.

3aoanue 7

IIpouuraiite, nepeBeauTe, NMOAOEpPUTE M 3aANHUIIUTE
onpeaejicHus K CJICAYIOIIUM CJI0BaM.

Consulting firm, pension fund, strategic planning,
forecasters, subsidiary, institutional investor

1. a company of experts providing professional advice to
businesses for fee

2. a financial institution that invests money to provide
retirement income for employees

3. deciding what a company is going to do in the future

4. people who try to predict what will happen in the future

5. a company that is partly or wholly owned by another one

6. a financial institution that purchases securities

3aoanue 8
IIpourHTe ¥ NMCLMEHHO NepeBeIUuTe CACAYIOUUH TEKCT.

Mergers and takeovers
Mergers, takeovers and joint ventures

In the modern business world, the ownership of
companies often changes. This can happen in different ways:

- a merger: this is when two companies join together to
form a new one (e.g. Exxon and Mobil, America Online and
Time Warner).

- a takeover or acquisition: this is when one company buys
another one (e.g. Vodafone and Mannesmann, Daimler-Benz and
Chrysler). This can happen in two ways. Firstly, a company can
offer to buy all the shareholders’ shares at a certain price (higher
than the market price) during a limited period of time. This is
called a takeover bid, secondly, a company can buy as many
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shares as possible on the stock market, hoping to gain a majority.
This is called a raid.

Investment banks have mergers and acquisitions (M&A)
departments that advise companies involved in mergers and
takeovers.

Companies can also work together without a change of
ownership. For example, when two or more companies decide to
work together for a specific project or product, this is called a
joint venture. An example is Sony Ericsson, which makes mobile
phones.

Hostile or Friendly?

There are two types of takeover bid. If a company’s board
of directors agrees to a takeover, it is a friendly bid (and if the
shareholders agree to sell, it becomes a friendly takeover). If the
company does not want to be taken over, it is a hostile bid (and if
successful, a hostile takeover). Companies have various ways of
defending themselves against a hostile bid. They can try to find a
white knight - another company that they would prefer to be
bought by. Or they can use the poison pill defence («eat me and
you’ll die!») which involves issuing new shares at a big discount.
This reduces the holding of the company attempting the takeover,
and makes the takeover much more expensive.

Integration

Horizontal integration is when a company gets bigger by
acquiring competitors in the same field of activity. Vertical
integration is acquiring companies involved in other parts of the
supply chain, usually to make cost savings. There are two
possibilities: backward integration is acquiring suppliers of raw
materials or components; forward integration is buying
distributors or retail outlets. Companies can also buy businesses
in completely different fields, which is known as diversification.
This can be done to reduce the risk involved in operating in only
one industry - but diversifying into completely different
industries is a risk itself.
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3aoanue 9
Iucbmenno 3agaiite 10 BONMpPOCOB K  TEKCTY,
HCNOJIB3YiTe pa3iIMdHbIe THIIBI BOIPOCOB.

Bapuanm 8

3aoanue 1

HN3menurte cieaymouue mNpelIoKeHUsI, HCIHOJAb3YHTe
pasimuHbie (GopMbl 1eliCTBUTEIBLHOI0 W CTPAAaTeJbHOIO
3agoros (Simple, Continuous, Perfect Active or Passive).

1. Specialization in production leads to increased output.

2. Information about consumer demand is obtained before
planning business strategy.

3aoanue 2

IlepeBenure ciaeaymomme mnpeaoKeHusl, oOpaias
BHUMAHHE HA 3HAYeHHMs rJarojioB Mmust, have to, be to,
should, ought to.

1. The government has to expand the potential market for
the goods of its country. 2. A country should specialize in
producing those goods which it can produce cheaply than its
trading partners. 3. The nation ought to develop wide trade
relations. 4. The borrower must be familiar with the commonly
used methods of calculating interest. 5. Another level of output is
to be chosen for the next year.

3aoanue 3

l'[epeBezlnTe, oﬁpamaﬂ BHHUMaHHEC Ha yl'lOTpeﬁ.HeHl/le
NPUYACTHI, MOAYEPKHHUTE IPUYACTHA.

1. Aiming to get higher profits, firms obtain each output
level as cheaply as possible. 2. Imports are goods or services
bought from a foreign country. 3. Consumer demand is the
quantities of a particular good that an individual consumer wants
and is able to buy as the price varies, if all other factors
influencing demand are constant. 4. People working in their own
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businesses calculate the cost of their own time spent in running
the business. 5. Varying input, the firm can vary output.

3aoanue 4

IlepeBenure, oOpamasi BHMUMaHMe Ha (OpPMBI H
GyHkunu HHQUHUTUBA, NOJYEPKHUTE HHPUHUTHUB.

1. He wanted the balance sheet to be completed as soon as
possible. 2. This decision can be described in terms of marginal cost
and marginal revenue. 3. Durable goods are goods to be used in
production in future or to be consumed over a long period of time. 4.
Swaps of products and services are reported to be extensively used
in underdeveloped countries. 5. Intermediate goods are goods to be
used as inputs in production of other goods.

3aoanue 5

HepeBeImTe, oﬁpamaﬂ BHUMaHHEC Ha yHOTpeﬁneHne
repyHaus.

1. Both nations participating in trading automobiles can
benefit from using the principle of comparative advantage. 2.
Many countries of the former Soviet block think of joining the EU.
3. When a country entirely relies on getting foreign financial help, it
can lose its independence. 4. Proper organization of a company’s
accounting system plays an important role in maintaining the
fundamental accounting equation in balance. 5. At the general
meeting of the bank directors, everybody spoke of the company
having the highest goodwill in the computer industry.

3aoanue 6

CocTaBbTe NpeIJIOKEHUsI W3 JIBYX HNOIXOAAIIMX IO
CMBICJIYy 4YacTeld, 3amMIINTe W TepeBeauTe MOJyYeHHbIe
NPeIJI0KEeHUsI.

1. The central bank can alter ...

2. Bank lends savers’ deposits ...

3. They also create credit by ...

4. How much credit banks can create ...
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a. depends on the reserve requirements.

b. lending the same original deposits several times.

c. the amount of money commercial banks are able to lend.
d. to people who need to borrow money.

3aoanue 7

IIpouuraiite, mepeBeauTe, NOAOEpUTEe M 3aANMUIIUTE
onpeaejicHus K CJICAYIOIIUM CJI0BaM.

Breakeven point, overheads, cost centre, variable costs,
fixed costs, profitable

1. expenses that are not clearly related to production or
manufacturing

2. a unit of activity in an organization for which costs are
calculated separately

3. costs that depend on the amount produced

4. adjective meaning providing income for a company

5. costs that do not change according to the production
volume

6. the sales volume at which a company doesn’t make a
loss, but doesn’t make a profit

3aoanue 8
IIpourHTe ¥ MMCLMEHHO NepPeBeIuTe CJCAYIOLIUA TEKCT.

International Trade
Trade

Most economists believe in free trade - that people and
companies should be able to buy goods from all countries,
without any barriers when they cross frontiers.

The comparative cost principle is that countries should
produce whatever they can make the most cheaply. Countries will
raise their living standards and income if they specialize in the
production of the goods and services in which they have the
highest relative productivity: the amount of output produced per
unit of an input (e.g. raw material, labour).
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Countries can have an absolute advantage - so that they
are the cheapest in the world, or a comparative advantage - so
that they are only more efficient than some other countries in
producing certain goods or services. This can be because they
have raw materials, a particular climate, qualified labour (skilled
workers), and economies of scale — reduced production costs
because of large-scale production.

Balance of Payments

Imports are goods or services bought from a foreign
country. Exports are goods or services sold to a foreign country.
A country that exports more goods than it imports has a positive
balance of trade or a trade surplus. The opposite is a negative
balance of trade or a trade deficit. Trade in goods is sometimes
called visible trade. Services such as banking, insurance and
tourism are sometimes called invisible imports and exports.
Adding invisibles to the balance of trade gives a country’s
balance of payments.

Protectionism

Governments, unlike most economists, often want to
protect various areas of the economy. These include agriculture -
so that the country is certain to have food - and other strategic
industries that would be necessary if there was a war and
international trade became impossible. Governments also want to
protect other industries that provide a lot of jobs.

Many governments impose tariffs or import taxes on
goods from abroad, to make them more expensive and to
encourage people to buy local products instead. However, there
are an increasing number of free trade areas, without any import
tariff, in Europe, Asia, Africa and the Americas.

The World Trade Organization (WTO) tries to encourage
free trade and reduce protectionism: restricting imports in order
to help local products. According to the WTO agreement,
countries have to offer the same conditions to all trading partners.
The only way a country is allowed to try to restrict imports is by
imposing tariffs. Countries should not use import quotas - limits
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to the number of products which can be imported — or other
restrictive measures. Various international agreements also forbid
dumping — selling goods abroad at below cost price in order to
destroy or weaken competitors or to earn foreign currency to pay
for necessary imports.

3aoanue 9
Iucbmenno 3agaiite 10 BONpPOCOB K  TEKCTY,
HCNOJIB3YiTe pa3IMdHbIe THIIBI BOIPOCOB.

Bapuanm 9

3aoanue 1

HU3menuTe cieaywoumue mnpeliOKeHUsI, HCIOJb3yHTe
pPa3JIn4vHbI€C (l)OprI HeﬁCTBHTeHLHOFO n CcTrpagaTrejbHoro
zagoros (Simple, Continuous, Perfect Active or Passive).

1. Minimum wage leads to the substitution of adults for
youths.

2. Real estate is defined as the land and the improvements.

3aoanue 2

IlepeBenure ciaenywomme mNpeAIoKeHUusi, oOpamas
BHUMaHHe Ha 3HayYeHMsl rJjarojioB Mmust, have to, be to,
should, ought to.

1. Producers from different countries must participate in
foreign trade as economic units. 2. Accounting principles should
determine which financial events and transactions are recorded in
the bookkeeper’s books. 3. The investment interest of the
stockholder ought to be sent to his account in the bank. 4. The
financial statements are to be prepared for investors. 5. Each
group of consumers has to look for different qualities in the
products they buy.

3aoarnue 3
IlepeBenuTe, oOpamasi BHUMaHHEe HAa YNOTpedJieHUe
NPUYACTHI, MOTYEePKHUTE NPHUYACTHS.
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1. Some farmers may not be interested in having a more
productive farm business. 2. There is a great difference among
farms in solving the transfer problem. 3. Revenue is what the firm
earns by selling goods or services in a given period such as a
year. 4. If free migration between countries is allowed, people
from poor countries will be able to go elsewhere looking for
higher incomes. 5. The person can feel satisfaction buying a car, a
meal, a concert, or even a year at college.

3aoanue 4

IlepeBenure, oOpamasi BHUMaHWe Ha (opMbI H
(pyHKI UM HHPUHUTHBA, TOXYEPKHUTE HHPUHHUTHB.

1. Still another reason for the inefficient use of capital has
been found to be associated with the life cycle of the farm family.
2. In a planned economy the government decides what goods are
to be produced and how they are to be marketed. 3. Firms choose
the optimal output level to receive the highest profits. 4. This is
the best method to be used in order to compare the productivity of
capital in different industries. 5. Final goods are the goods to be
consumed by the end-users.

3aoanue 5

IlepeBenuTe, oOpamasi BHMMaHHMEe Ha YNOTpeOJieHHe
repyHausi.

1. Studying the relationship between assets, liabilities and
equity is one of the methods for better understanding main
accounting principles in business. 2. This company is said to
specialize in producing small-size farm machines and it is
successfully competing with other leading producers in the world
market. 3. The designing of the original trademark can be helpful in
promoting products, thus increasing the company’s network. 4.
According to the special Copyright Act nobody is allowed to
reproduce and make copies of any book without receiving the
owner’s permission. 5. After the owner having signed a number of
documents his real estate was transferred to his educational centre.
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3aoanue 6

CocraBbTe NMPpEeAJIOKCHUA HU3 JABYX HNOAXOAAINUX II0
CMBICITY '-IﬂCTCfI, 3allMIIUTe W IIePeBEAUTE II0JYYCHHbBIC
NMpeaJ0KCHUs.

1. Before lending money, ...

2. The interest rate on a loan ...

3. Banks always need liquidity, ...

4. If a company pays out retained surpluses from past
years ...

a. banks have to assess the risk involved.

b. depends on how risky it is for the bank to lend the
money.

c. its dividend cover with fall below 1.0.

d. so they can’t lend all their money in loans with long
maturities.

3aoanue 7

HquHTaﬁTe, InepeBeauTe, nouﬁepnTe U 3alnuuimTe
onpeaeJeHus K CJIeAYIOIHMM CJI0BaM.

Appreciate, obsolete, current assets, revalue, fixed assets,
wear out

1. to record something at different price

2. assets that will no longer be in the company in 12
months’ time

3. to increase rather than decrease in value

4. out of date, needing to be replaced by something newer

5. assets that will remain in the company for several years

6. to become used and damaged

3aoanue 8
IIpouTHTe U MMCBMEHHO NepPeBeIuTe CJCAYIOLIUIA TEKCT.
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The business cycle
Expansion and contraction

All market economies have periods when consumption -
spending on goods and services - rises. Consumers buy more,
companies invest more, and production, income, profits and
employment increase. These periods are always followed by
periods when spending and investment fall, and unemployment
rises. This is the business cycle.

A period during which economic activity increases and
the economy is expanding is an upturn or upswing. If it lasts a
long time it is called a boom. The highest point of the business
cycle is a peak, which is followed by a downturn, during which
the amount of economic activity decreases. If the economy keeps
contracting for more than six months, the downswing is called a
recession. A serious, long-lasting recession is called a depression
or a slump. The lowest point of the business cycle is a trough,
which is followed by a recovery, when economic activity
increases again, and a new cycle begins.

Note: A downturn is also called a downswing or a period
of contraction; a recovery is also called an upturn, an upswing or
a period of expansion.

Fiscal policy

Governments and central banks use fiscal policy, which
involves changing the levels of government expenditure and
taxation to try to limit the extent of the business cycle.

If an economy is moving into a recession, the government
might have a reflationary fiscal policy. This means trying to
stimulate the economy by increasing government spending, or by
cutting levels of direct or indirect tax so that individuals and
companies have more money to spend.

If an economy is overheating - expanding too quickly - it
means that industry is working at full capacity and producing as
much as it possibly can. Because demand is greater than supply,
leading to rising prices and inflation, the government might have
a deflationary fiscal policy. This means trying to cool down the
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economy: reducing the amount of economic activity by raising

tax rates or cutting government expenditure. This reduces the

level of demand in the economy and helps to reduce inflation.
Monetary policy

Governments or central banks can also use monetary
policy - changing interest rates and the level of the money supply
- to influence the level of economic activity. They can boost or
increase economic activity if the economy is in a downturn by
reducing interest rates and allowing the rate of growth of the
money supply to increase. Alternatively, if the economy is
growing too fast and causing inflation, they can slow it down by
increasing interest rates and reducing the rate of growth of the
money supply.

The main reason for having an independent central bank is
to prevent governments from creating a political business cycle -
a cycle that will be at a high point at the time of the next election.
Governments can do this by beginning their periods of office with
a couple of years of policies designed to stop the economy from
growing, followed by tax cuts and monetary expansion in the two
years before the next election. This policy, sometimes called
boom and bust, helps the government get re-elected but is not
good for economic stability. An independent central bank makes
this less likely to happen.

3aoanue 9
Iucbmenno 3amaiite 10 BOMPOCOB K  TEKCTY,
HCIOJIB3YiiTe pa3/iMyHbIe THIIHI BOMPOCOB.

Bapuanm 10
3aoanue 1
N3meHuTe ciaeaywuiue NpeIoOKeHNs, HCHOJb3YyHTe

pasiauyHble (POPMbI JEHCTBHTENBHOIO M CTPAAATEILHOIO
3ajoroB (Simple, Continuous, Perfect Active or Passive).
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1. The using of the new method produces good results.
2. Measures are taken to improve storing goods.

3aoanue 2

IlepeBenure cienymomme MNpeAJoKeHUs, oOpamas
BHHMAaHHE HAa 3HAYeHHMs rJjarojioB Mmust, have to, be to,
should, ought to.

1. The problem was to be solved by the end of the year.
2. The company has to lower the price of its goods because they
are not in large demand. 3. The company should to improve the
packaging of its goods or it may lose part of its customers. 4. In
the UK every foreign firm must register its name and address.
5. The goods that ought to be produced are in great demand.

3aoanue 3

HepeBeImTe, oﬁpamaﬂ BHUMaHHEC Ha yHOTpeﬁﬂeHHe
NMPUYACTHIA, MOTYEPKHUTE NPUYACTHS.

1. Russia and other post-communist economies used the
US dollar as a unit of account, keeping their national currencies
as means of actual payment. 2. Serving as a medium of exchange
is presumed to have for centuries been an essential function of
money. 3. When used as a medium of exchange, money is
considered to be distinguished from other assets. 4. The person
compares the benefits and costs of each alternative trying to get
the maximum benefit. 5. An increase in income results in a rise of
the quantity demanded, provided the goods are normal.

3aoanue 4

IlepeBenure, oOpamasi BHMUMaHMe Ha (OpPMBI H
(pyHKkuuM HHPUHUTHBA, TOXYEPKHUTE HHPUHUTHB.

1. Money as the medium of exchange is believed to be
used in one half of almost all exchange. 2. To see the advantages
of a medium of exchange, imagine a barter economy, that is, an
economy having no medium of exchange. 3. Some of the
efficiency in the use of capital is believed to be due to more basic
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troubles. 4. Intermediate products are the goods and services not
to be counted as part of the gross national product. 5. The labour
supply is a measure to be offered at given wages at a certain time.

3aoanue 5

IlepeBenuTe, oOpamasi BHMMaHHMe Ha YNoOTpelJieHUe
repyHaus.

1. In preparing a balance sheet the accountant made a few
serious mistakes. 2. The company is able to increase its profits
only by introducing proper technologies. 3. Before selling
company stock-in-trade the Sales Manager has to consult the
company’s president. 4. The company can attract additional
capital investments by issuing extra stocks or borrowing a loan
from the bank. 5. Before hiring a new employee the Personnel
Manager always invites the latter to an interview.

3aoanue 6

CocTaBbTe NpelIOKEHUS] M3 JBYX HNOIXOAAIIMX IO
CMBICJIYy 4YacTeld, 3anuIINTe W TepeBeIuTe TMOJy4YeHHbIe
NpeI0KeHUsl.

1. After borrowing millions to finance the takeover of a
rival firm, the company’s

2. Although sales fell 5%, the company’s ...

3. Like profit growth, return on equity is a measure of ...

4. With just 24% gearing, the company can afford ...

a. gross profit margin rose 9% from a year ago, so senior
management isn’t worried.

b. how good a company is at making money.

c. interest cover is the lowest it has ever been.

d. to acquire its rival, which would help to increase its
steady growth.

3aoanue 7
IIpoumTaiite, mepeBeaure, moAdepuTe W 3alULINATE

onmpeaeaeHus K CJIeAyIOuuM CjioBaM.
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Credit, creditors, ledger, stock, debit, debtors

1. an amount entered on the left-hand side of an account,
recording money paid out

2. a book of accounts

3. customers who owe money for goods or services not
yet paid for

4. an amount entered on the right-hand side of an account,
recording a payment received

5. goods stored ready for sale

6. suppliers who are owed money for purchases not yet
paid for

3aoanue 8
IIpoyTHTE U MUCHMEHHO NMepeBeIUuTe CIAETYIOIIUA TEKCT.

Business plans
Market opportunities

If you have a brilliant idea for a new product or service, or
a better or cheaper way of supplying an existing product or
service, you will probably require finance: money to start up a
company to take this market opportunity, or to expand an existing
company. If you want to interest venture capitalists in your
project, you will have to write a business plan.

Business plans begin with a summary, often called an
Executive summary, which explains in one or two pages:

- what sort of company it is

- what the product or service is, and what is special about it

- who the managers are

- how much money you need, and what you will use it for.

The company, the product and the market

If the company already exists, the first chapter of the
business plan explains how it was started and how it has grown,
and gives a history of sales and profits. It describes the company
today, and the plans for the future.

The second chapter describes what you already sell or
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want to sell. it explains what differentiates the product or service
from other existing ones - what makes it different or unique. It
focuses on the benefits or advantages for customers - how it will
improve people’s lives!

The chapter on the market describes the industry you
operate in, the market segments, the other firms in the market
(your competitors), changes in the industry, and projected trends -
forecasts for the future - and technological opportunities. It
outlines what the customers need, where they are, and how you
plan to reach them. It explains how you will make sure that
customers know about your product or service and why they will
prefer it to the competition. It gives details of your marketing
strategy, including sales tactics - the ways you plan to achieve
sales, advertising, publicity and sales promotions - incentives to
encourage customers to buy.

The chapter on the management team gives details about
the most important staff. The chapter on strategy outlines your
strategies for marketing, pricing, distribution, sales, etc., and how
you are going to implement them or carry them out.

The financial analysis

The financial analysis gives details of the historical
performance, if it is an existing company, and describes existing
finance and assets. It explains why the business needs funds, and
gives sales forecasts (the sales the business expects to achieve in
a particular period of time), projected or expected financial
statements (profit and loss account, cash flow statement, and
balance sheet), and projections for future income. It will probably
include a breakeven analysis, and an analysis of financial ratios.

Various appendices can come at the end of the business
plan, including the curriculum vitae (CV) of each top manager
and promotional materials for your products.

3aoanue 9

IIucemenno 3apaiite 10 BoOmpocoB K  Tekcry,
HCIOJb3YyHTe pa3IM4HbIe TUIILI BOIIPOCOB.
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Word Bank

Aa
absolute advantage [,ebsalu:it od'va:ntidz] a6comrorHOE
PEUMYIIECTBO
absorption costing [ab'zo:pfan ,Kostin] mormomnieHune u3aepxKeK
account [o'kavnt] cuér
accountancy [o'kavntontsi] Oyxranrepus
account book [o'kavnt buk] pacuérhas kHura
accounting [o'kavntin] oTyéTHOCTD
accuracy ['ekjorasi] TounocTsh
acquisition [‘eekwi'zifon] noromnieHue, oBiagcHUE
activity-based accounting [«k'tiveti ,beist ,kostin] moacuér Ha
OCHOBE BH/JIOB JICATCILHOCTH
allocate ['elokeit] pasmemniars
annual accounts [,eenjual o'kavnt] exeroaHbie cuera
assets ['asets] akTuBBI, (POHIBI
auditing ['a:ditin] npoBeneHue peBuzun

Bb
backward integration [,bakwod ,inti'greifon]  oOpatHas
UHTEprparust
balance of payments ['balonts ov 'peimants] muaréxHbii Oananc
balance sheet ['bzlonts ,[i:t] 6amancoBsIii 0TUET
bill [bil] cuér k oruate
bond [bond] o6s3atenbcTBO
bookkeeping ['buk ki:pin] Benenre Oyxranrepckux KHUT
boom [bu:m] mporBeranue, moabEM
boom and bust [bu:m and bast] moxsém u nanenue
boost [bu:st] moBsIeHne
borrow from [‘borau from] 3anumars
borrower ['borsus] 3aémmuk
breakeven analysis [breik,i:von o,nalosis] cbanancupoBaHHBIH
aHaJIH3
breakeven point ['breik,i:van ,point] cOanaHcupoBaHHBIN MTYHKT
budget ['bad3it] 6romxeT
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Cc
capital gain ['kepital 'gein] moxoas! oT npupocTa kanuraia
carry out [ keeri 'avt] BBIIOIHATH
cash [ke[] HanuuHble neHbIU
coin [koin] monera
commission [ka'mifon] komuccust
comparative advantage [Kom,perativ od'va:ntid3] orHocurensHoe
PEUMYIIECTBO
comparative cost principle [kom,parativ 'kost ,prinsapl]
CpaBHI/ITeJIbeIf/'I MIPUHIOHII CTOUMOCTH
consumption [kan'sampfan] nmotpebacuue
convertible [kon'v3:tobl] konBeHTHPYEMBIi
cool down the economy [,ku:l ,davn 8o i'konami] oxsamuTs
OKOHOMUKY
corporate bonds ['ko:parat ,bondz] koproparronHsie 0OIUraIuU
cost accounting ['kost o'kavntin] ncuncienue ce6eCTOMMOCTH
coupon ['ku:pon] kymou
cover costs [,kavs 'kosts] mokpbiBaTh pacxoipt
creative  accounting  [krieitiv  o'kavntin]  TBOpueckwuii
Oyxraiatepckui yuér
credit ['kredit] kpeaut
credit rating ['kredit ,reitin] mokasarenb KpeaUTOCTIOCOOHOCTH
3aéMILHKA
curriculum vitae (CV) [Ka,rikjalom ‘vi:tai (,si: vi:)] ouorpadus

Dd
day book ['dei buk] exxenHeBHas KHUTA
debt [det] gonr
debtor ['deto] momxHHK
declare bankrupt [di,klear 'beenkrapt] o0bsBIeHNE GaHKpPOTCTBA
default [di'fo:It] HeBBITOMTHEHME 0053aTENILCTB
deficit ['defisit] nepuuut
deflationary [di'fleifanori] nednsponHbIi
depression [di'prefon] mempeccus
direct cost [di'rekt 'kost] mpsimoii pacxon
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double-entry bookkeeping [,dabl .entri 'buk.ki:pin] aBoiinas
Oyxranrepus

downswing [‘daunswin] crag mpou3BoACTBA

downturn ['daunt3:n] naneHne KOHBIOHKTYPBI

dumping ['dampin] BeIBO3 110 GPOCOBBIM IICHAM

Ee
earn [3:n] 3apabaTbiBaTh
earning [3:nin] BeIpyuKa
economies of scale [i,konamiz av 'skeil] macmTad sxoHOMEKH
equity ['‘ekwiti] akroHepHbI# KanuTa
establish [i'staeblif] ycTranaBauBarh
ethical ['ebikal] sTrueckuii
executive summary [ig,zekjativ 'samari] pestome
expense [ik'spents] pacxox
external audit [ik,st3:nal 'a:dit] BHemHsS mpoBepka

Ff
fallen angel [,fo:lon 'eind3ol] mammmii anren
fees [fi:z] nenexubie cOOPHI
financial  statement [fai,nenfol  'steitmont]  ¢unancosas
JeKIIaparust
fiscal policy [,fiskal 'polasi] 6romxeTHas moauTHKA
floating-rate ['flovtip ,reit] mmaBaromas craBka
follow rules [,folov 'ru:lz] cnepoBars npaBuIam
fraud [fro:d] panscuduxanus
free trade [,fri: treid] 6ecnionuuaHas TOProBJIst
friendly bid ['frendli ,bid] npyxeckoe npemoxkeHne HEHBI
friendly takeover ['frendli ,teikovvo] npyskeckoe mornoiieHue
full capacity [,fvl ko'paesati] mosnHast BMecTUMOCTD
Gg
gilt-edged stock [,gilt ,ed3d 'stok] mepBokaccHast ormopa
gilts [gilts] 3om0T0
government bond ['gavemont ,bond] rocymapcrBeHHOE
00513aTeNIbCTBO
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government expenditure ['gavemant ik'spenditfa]
NPaBUTEIILCTBEHHOE 00513aTEIHCTBO

Hh
health insurance ['hel0] cTtpaxoBanue 310poBbs
horizontal integration [hori,zontal ,inti'greifon] ropusonTanbHas
UHTETPAIHs
hostile bid ['hostail ,bid] BpaxxaeOHOe mpeIoKEeHUE IEHBI

li
Implement ['impliment] opyaue
Income ['igkam] npuObLIH
independent auditor [,indipendant 's:dito] He3aBrcHMBIiT ayquTOp
indirect cost [,indirekt 'kost] mocrostHHBII pacxo
insolvent [in'solvant] 6ankpot
interest ['intrast] craBka, mporeHT
inversely [in'v3:sli] o6paTao
invisible export [in'vizobl] HeBumumeIit S5xcIOpT

Jj
joint venture [,d3oint 'ventfo] coBmecTHOE npeanpusiTHe
journal ['d33:nal] xypran
junk bond ['d3ank ,bond] oGsuraiust co CeKyIATHBHBIM KypCOM

LI
law [lo:] 3akon
lend to [lend tu:] npenocraBiaTh
liability [,laio'bilsti] obs3aTenbcTBO
living standards ['livin ,steendodz] sxu3HeHHbIE CTaHAAPTHI
loan [lovn] ccyna

Mm
market opportunity [,ma:Kit ,opa'tju:nati] Bo3MoKHOCTh phIHKA
maturity date [ma'tjvarati ,deit] nara okonvanus cpoka
merger [,m3:d3a] nornomeHue
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mergers and acquisitions department [,m3:d3oz ond 'akwi'zifonz
di,pa:tmont] otaen cnusHUIA U MTOTJIONICHU N
mortgage ['mo:gid3] 3amor

Nn
net income [,net 'igkam] gucras npuObLTH
nominal ledger ['nominal 'led3o] HomuHanbHas OyxramTepckas
KHUTa
note [novt] 6ankHOTA

Oo
objective [ab'dzektiv] 3amaua
on credit [,on 'kredit] B xpeaut
on paper [,on 'peipa] Ha 6ymare
outgoings [,avt'gavinz] pacxost
overheads [,avvohedz] nakmaaHbie pacxobl
overheating [,avvo'hi:tin] meperpes
overtime [,ovvataim] cBepxypouHO
owe [ov] 3agomkaTh
own [aun] coOCTBEHHBIH

Pp
peak [pi:k] mux
pension ['penfan] nexcus, mocobue
poison pill [,poizan 'pil] smoBuTas TabneTka
prepare [pri'pes] roTroBUTh, MOATOTaBIHBATD
productivity [,prodak’tivati] mpoaykTuBHOCTH
profit ['profit] mpuobLIH
profit and loss account ['profit oand 'los o'kavnt] cuér npubbLICH 1
yOBITKOB
projected trends [pro,dzektid ‘trendz] mnporno3upyemsbie
TEHICHIHH
protect [pro'tekt] 3ammmare
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Rr
raid [reid] peiin, Han€r, BHE3aTHOE HANA/ICHUE
recession [ri'sefon] cmaz, pemeccus
record [ri'ko:d] 3amuce
recovery [ri'kavori] BocctanoBicHme
reflationary [,ri:'fleifonari] pednsumonno
rent [rent] apenna
retain [ri'tein] coxpanuth
revenue ['revenju:] moxosl

Ss
salary ['salori] 3aprmiara
sales forecast ['seilz ,fo:ka:st] mporuos mpomax
share [fes] akiust
shareholder ['fes,hovlds] akumonep
slump [slamp] criaz
social security [,savfal si'kjvarati] cormanbroe obecneucHue
spend [spend] moTpaTuth
stock [stok] akius
stockholder ['stok,hovlds] akumonep

Tt
tactics [taktiks] TakTrka
takeover ['teik,ovva] mornomenue
takeover bid ['teik,avva ,bid] npeanoxenue o mormomeHuw
tax ['teeks] Hamor
trade surplus ['treid ,s3:plos]canbao Toprosoro 6ananca
treasure bond ['trezori ,bond] obaurarms
trial balance [,traial 'baelonts] npoGHbIii Gananc
true and fair view [,tru: and ,fes 'vju:] BepHoe npencrasieHue

Uu

upswing ['Apswin] moabém
upturn ['Apt3:n] mogsém
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Vv
variable costs ['veariabl ,kosts] nepemenHbIe H3nEPKKH
vertical integration  [,v3:tikl .inti'greifon] BepTuKanbHas
HHTCrpanuia
visible trade ['vizabl ,treid] Buaumas Toprosis

Ww
wages [weid3iz] 3apaboTHas miara
white knight [,wait 'nait] 6emnbrii peiaps
World Trade Organization [,ws3:ld ‘treid 2:gonai‘zeifon]
BCGMI/IpHaH TOproBas OpraHu3anusa

Yy
yield [ji:ld] cymma cobpanHoro Hanora

Z7

zero coupon bond ['ziarov .ku:pon ,bond] obnuraiust ¢ HyJIeBbIM
KYIIOHOM
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Language
vocabulary

reference

— British and American

British English

American English

aluminium aluminum
Annual General Meeting | Annual Meeting of Stockholders
(AGM)

Articles of Association

Bylaws

balance sheet

balance sheet/statement of
financial position

base rate

prime rate

building society

savings and loans association

cash dispenser

ATM (Automated Teller

Machine)
chairman president
cheque check
convertible share convertible bond
corporation tax income tax

cost centre

cost center

creditors accounts payable

current account checking account

debtors accounts receivable
depriciation depreciation/amortization

Extraordinary General | Special Meeting

Meeting (EGM)

financial year fiscal year

fixed accets property, plant and equipment
flat apartment

flotation initial public offering (IPO)
gearing leverage

index-linked fund tracker fund

labour labor

managing director chief executive officer (CEO)
Memorandum of | Certificate of Incorporation
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Association

merchant bank

investment bank

net profit net income
note or banknote bill

ordinary shares common stock
overheads overhead

own shares treasury stock
petrol gasoline

PLC listed company

preference shares

preferred stock

profit and loss account

income statement

shareholder

stockholder

shareholders’ equity

stockholders’ equity

shares

stocks

shopping centre shopping mall

social security welfare

stock inventory

stock take count of the inventory

traveller’s cheque

traveler’s check

true and fair view

fair presentation

visible trade

merchandise trade
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Jluist 3ameTok
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YuebHoe n3ganue

ITouenaii Cernana HukonaeBHa
AnpprouieHok Enena BnagumuposHa

ENGLISH
FOR ECONOMISTS

METOMYECKHE PEKOMEHIAllNU U 3aJaHUS
KOHTPOJILHOM paboTs! Ne2
JUISL CTYJIEHTOB 2 Kypca (haKkyiIbTeTa 3a04HOr0 00y4eHus

Penakrop Ocunosa E.H.

[Moamucano x mewatu 14.09.2011 r. ®opmat 60x84 1/16_
Bymara odcernas. Yeu. m. 1. 3,37. Tupax 100 sx3. 3. Ne2008.

N3narensctBo @PI'BOY BIIO «bpsaHCKOH rocygapcTBEHHON
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243365 bpsiackas 00i1., Beironudckuii paios, ¢. Kokuso,
OI'bOY BIIO «bpsuckas 'CXA».
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